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(5) Am{W©H$ gwYmaUm, d¥Õr Am{U {dH$mg - joÌr` dmT>, n§Mdm{f©H$
¶moOZm d {dH$mg H$m¶©H«$‘

1) ............. ¶mdfu ~m±~o ßb°Z V¶a H$aÊ¶mV Ambm hmoVm
1) 1950 2) 1947 3) 1930 4) 1944

1) In the year, ‘Bombay Plan’ was prepared for the development of Indian Economy.

1) 1950 2) 1947 3) 1930 4) 1944

2) Imcrc {dYmZo {dMmamV ¿¶m :
a) ^maV gaH$maZo 24 Owc¡ 1991 amoOr ZdrZ Am¡Úmo{JH$ YmoaU Omhra Ho$co.
b) ¶m YmoaUm‘wio gaH$magmR>r amIrd Agcoë¶m CÚmoJm§Mr g§»¶m 10 n¶ªV H$‘r Pmcr.
darcn¡H$s H$moUVr {dYmZo ~amo~a Amho/AmhoV ?
1) (a)  ~amo~a Amho 2) (b) ~amo~a Amho
3) XmoÝhr (a) (b)  Am{U ~amo~a AmhoV 4) darcn¡H$s Zmhr

2) Consider the following statements :

a) The Government of India announced a New Industrial Policy on July 24, 1991.

b) The policy reduced the number of industries reserved for the government to 10.

Which of the statements given above is/are correct ?

1) (a) is correct 2) (b) is correct

3) Both (a) and (b) are correct 4) None of the above

3) Owb¡ 1991 nmgyZ AW©ì¶dñWoVrb nwadR>m ~mOy gwYmaÊ¶mgmR>r ì¶mnH$ CXmarH$aUmMo Cnm¶ bmJy Ho$bo OmV AmhoV.
¶mVrb A{YH$ ‘hÎdmMo AmhoV …
A) ì¶mnma Am{U ^m§S>db àdmh gwYmaUm ~) Am¡Úmo{JH$ {d{Z¶§ÌU
H$) {ZJwªVdUyH$ Am{U gmd©O{ZH$ CÚmoJ gwYmaUm S>) {dÎmr¶ joÌ gwYmaUm
n¶m©¶r CÎmao …
1) A Am{U ~ 2) H$ Am{U S> 3) A, ~ Am{U H$ 4) A, ~, H$ Am{U S>

3) Since July 1991, comprehensive liberalization measures have been undertaken to improve the

supply side of the economy.  Among these the more important are :

a) Trade and capital flows reforms

b) Industrial deregulation

c) Disinvestment and Public Enterprises Reforms

d) Financial sector reforms

Answer Options :

1) a and b 2) c and d 3) a, b and c 4) a, b, c and d

4) Imbrb {dYmZo {dMmamV ¿¶m …
A) nrE‘ dmOno¶r gaH$maZo 1999 ‘Ü¶o ZdrZ {ZJwªVdUyH$ {d^mJ V¶ma Ho$bm.
~) 2001 ‘Ü¶o {ZJwªVdUyH$ {d^mJ nyU© ‘§Ìmb¶ ~Zbo.
darbn¡H$s H$moUVo/Vr {dYmZ/Zo ¶mo½¶ AmhoV?
n¶m©¶r CÎmao …
1) Ho$di A 2) Ho$di ~ 3) XmoÝhr A Am{U ~ 4) darbn¡H$s Zmhr
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4) Consider the following statements :

a) Government of PM Vajpayee created new department of disinvestmentin 1999.

b) Department of disinvestment became a full Ministry in 2001.

Which of the statement/s given above is/are correct ?

Answer Options :

1) Only a 2) Only b 3) Both a and b 4) None of the above

5) brS²>g 2022 À¶m gd}jU AhdmbmZwgma Imbrbn¡H$s H$moUVr amÁ¶o ’$mñQ> ‘yìhg© H$m‘{Jar loUr‘Ü¶o Amho?
A) h[a¶mUm ~) Ho$ai H$) amOñWmZ S>) Vm{‘iZmSy>
n¶m©¶r CÎmao …
1) A Am{U ~ 2) A Am{U H$ 3) ~ Am{U H$ 4) H$ Am{U S>

5) According to LEADS 2022 survey report which of the following States are in Fast Movers

Performance Categories ?

a) Haryana b) Kerala c) Rajasthan d) Tamil Nadu

Answer options :

1) a and b 2) a and c 3) b and c 4) c and d

6) ^maV gaH$maZo ñdrH$maboë¶m ñWyb Am{W©H$ pñWarH$aU H$m¶©H«$‘mV ...... ¶m§Mm g‘mdoe hmoVmo.
A) Am¡Úmo{JH$ IwbonUm ~) {dÎmr¶ gwYmaUm H$) ì¶dhmaVmob g‘m¶moOZ S>) ‘hmJmB© {Z¶§ÌU
n¶m©¶r CÎmao …
1) A, ~ Am{U H$ 2) A, H$ Am{U S> 3) A, ~ Am{U S> 4) ~, H$ Am{U S>

6) The Macroeconomic Stabilisation Programme adopted by the Government of India consist of

a) Industrial deregulation b) Fiscal correction

c) Balance of Payments adjustment d) Control of inflation

Answer Options :

1) a, b and c 2) a, c and d 3) a, b and d 4) b, c and d

7) Imbrbn¡H$s H$moUVm OmJ{VH$sH$aUmMm {ZH$f Zmhr?
1) XoemXoem§‘Yrb ì¶mnma{df¶H$ {Z~ªY H$‘r H$aUo. 2) XoemXoem§‘Ü¶o ^m§S>dbmMm ‘wº$ g§Mma
3) V§ÌkmZmMm ‘wº$ g§Mma 4) {d{dY Xoem§‘Ü¶o l‘mMm ‘wº$ g§Mma Zmhr

7) Which of the following is not the parameter of the globalisation ?

1) Reduction of trade barriers among the nation-states

2) Free flow of capital among the nation-states

3) Free flow of technology

4) Not free movement of labour in different countries

8) Am{W©H$ {dH$mgmMo Am{W©H$ KQ>H$............. ho AmhoV.
A) ^m§S>dc {Z{‘©Vr ~) {dH$mg gmYÊ¶mMr BÀN>m
H$) {dH«$s¶mo½¶ eoV‘mcmMo A{Y³¶ S>) {dXoer ì¶mnma
n¶m©¶r CÎmao :
1) ~, H$ d S> 2) A, ~ d H$ 3) A, ~ d  S> 4) A, H$ d S>
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8) The economic factors in economic development are

a) Capital formation b) Desire to develop

c) Marketable surplus of agriculture d) Foreign trade

Answer Options :

1) b, c and d 2) a, b and c 3) a,  b and d 4) a, c and d

9) {dVaUmË‘H$ {df‘Voer H$moUË¶m ~m~r g§~§{YV AmhoV ?
A) cmoH$g§»¶m d¥Õr ~) Jar~r H$) ~oamoOJmar S>) ^mddmT>
n¶m©¶r CÎmao :
1) A Am{U ~ 2) ’$º$ ~ 3) ¶mn¡H$s gd© 4) ¶mn¡H$s Zmhr

9) Which things are relevant to distributional inequality?

a) Growth of population b) Poverty

c) Unemployment d) Inflation

Answer Options :

1) a and b 2) only b 3) all of the above 4) none of the above

10) Xþgè¶m n§Mdm{f©H$ ¶moOZoÀ¶m AmIUr‘Ü¶o ‘hmbZmo~rg à{V‘mZmV ...... ¶mda ^a {Xbobm hmoVm.
1) bKw CÚmoJ 2) J«m‘rU CÚmoJ
3) ‘m{hVr-V§ÌkmZ CÚmoJ 4) emídV {dH$mg

10) The Mahalnobis model adopted at the formation of II five year plan, emphasized on

1) Small scale industries 2) Rural industries

3) Information technology industries 4) Capital goods and investment goods

11) Mm¡Ï¶m n§Mdm{f©H$ ¶moOZoV ...... da {deof ^a XoÊ¶mV Ambm hmoVm.
1) ñW¡¶m©gh {dH$mg 2) Am{W©H$ {dH$mg Am{U d¥Õr
3) d¥Õr Am{U g‘Vm 4) emídV {dH$mg

11) The fourth five year plan was given special focus on

1) Growth with stability 2) Economic development and growth

3) Growth and equity 4) Sustainable development

12) nmMì¶m n§Mdm{f©H$ ¶moOZoMr ‘w»¶ C{Ôï>o H$moUVr hmoVr ?
A) Xm[aÐç {Z‘©ycZ ~) ñd¶§{Z^©aVm àmá H$aUo
H$) CÚmoJm§Mm {dH$mg S>) ñW¡¶m©gh d¥Õr
n¶m©¶r CÎmao :
1) ’$º$ A 2) A Am{U ~ 3) ’$º$ H$ 4) darbn¡H$s H$mhrhr Zmhr

12) Which things are relevant to distributional inequality?

a) Poverty alleviation b)  selfsufficiency attainment

c) Inadustry development d)  growth with stability

Answer Options :

1) only a 2) a and b 3) only c 4) none of the above
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13) Xhmì¶m ¶moOZoV H$moUË¶m ~m~r gmÜ¶ H$aUo e³¶ Pmbo Zmhr?
A) Xm[aÐç nmVir H$‘r H$aUo ~) ~oamoOJma nmVir H$‘r H$aUo
H$) ñWyb ~MVrMr nmVir S>) naH$s¶ MbZmMm gmR>m
n¶m©¶r CÎmao …
1) ’$º$ A 2) A Am{U ~ 3) ~ Am{U H$ 4) ¶mn¡H$s gd©

13) Which things could not be achieved in tenth plan ?

a) To reduce poverty level b) To reduce unemployment level

c) Gross domestic saving level d) Foreign exchange reserve

Answer Options :

1) Only a 2) a and b 3) b and c 4) All of the above

14) Xhmì¶m n§Mdm{f©H$ ¶moOZoV EHy$U IMm©À¶m 22.8 Q> o̧$ dmQ>nmgh ...... joÌ ho Xþgè¶m H«$‘m§H$mda hmoVo.
1) dmhVyH$ Am{U XiUdiU 2) gm‘m{OH$ godm
3) ‘m{hVr-V§ÌkmZ 4) bKwCÚmoJ

14) The sector came second with allocation of 22.8 per cent of total outlay of 10th five year plan.

1) Transport and communication 2) Social services

3) Information technology 4) Small scale industries

15) ewpånQ>a ¶m§À¶m ‘Vo,
A) {dH$mg åhUOo pñWVrerb pñWVrV I§S>rV Am{U CËñ’y$V© ~Xb hmo¶.
~) Va d¥Õr åhUOo H«$‘e… Am{U pñWa XrK©H$mbrZ ~Xb, Omo hiwdma ~MV Am{U bmoH$g§»¶m dmT>r‘wio hmoVmo.
darbn¡H$s H$moUVo {dYmZ ¶mo½¶ Amho/V?
1) A ’$º$  2) ~ ’$º$ 3) A Am{U ~ 4) darbn¡H$s H$moUVohr Zmhr

15) According to Schumpeter,

a) Development is a discontinuous and spontaneous change in the stationary  state.

b) While growth is a gradual and steady change in the long run which, comes about by a gradual

increase in the rate of savings and population.

Which of the statement above is/are correct ?

1) a only 2) b only 3) a and b 4) None of the above

16) g§Vw{cV d¥Õr {gÕm§VmZwgma ...... ‘Ü¶o g§VwbZmMr JaO Amho.
A) Cn^mo½¶ dñVy d Am¡Úmo{JH$ dñVy ~) ^m§S>dbr dñVy d Am¡Úmo{JH$ dñVy
H$) H¥$fr joÌ d Am¡Úmo{JH$ joÌ S>) AW©ì¶dñWoVrb gd© joÌ
n¶m©¶r CÎmao …
1) ’$º$ A 2) ’$º$ H$ 3) ’$º$ S> 4) ’$º$ A Am{U ~

16) Balanced growth theory requires balance between ..........

a) Consumer goods and industrial goods b) Capital goods and industrial goods

c) Agricultural sector and industrial sector d) All sectors in the economy

Answer Options :

1) Only a 2) Only c 3) Only d 4) Only a and b
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17) ^maVr¶ AmW©ì¶dñWoÀ¶m XrK©H$mbrZ emídV {dH$mgmR>r emgZmZo ¶moObobo Cnm¶......
A) g‘mOmVrc Agwa{jV KQ>H$ Am{U ì¶mnma joÌmgmR>r gwa{jVVm Omio.
~) nm¶m ŷV gw{dYmdarc ^m§S>dcr IMm©V ‘moR>r dmT>.
H$) ‘Ü¶‘H$mcrZ ‘mJUr nyd©nXmda AmUUo.
S>) nwadR>m ~mOy Cnm¶m§Mr AmH«$‘H$ A§‘c~OmdUr.
Imcrcn¡H$s ¶mo½¶ n¶m©¶ {ZdS>m.
1) ’$º$ A 2) ’$º$ ~ 3) A Am{U ~ 4) A, ~, H$ Am{U S>

17) Which measures have been implemented by the government of India to prepare the economy for

a sustained long-term expansion ?

A) Bouquet of safety-nets to vulnerable sections of society and business sector.

B) Significant increase in capital expenditure on infrastructure.

C) To build back medium-term demand.

D) Aggressively implemented supply-side measures.

Choose the correct option.

1) Only A 2) Only B 3) A and B 4) A, B,C and D

18) {d{dY ¶moOZm XñVEodOmVyZ {Z¶moOZmVyZ {Z¶moOZmMr XrK©H$mbrZ C{ÔîQ>ço Imbrbà‘mUo {XgyZ ¶oVmV.
A) Am{W©H$ d¥Õr, AmË‘{Z ©̂aVm ~) ~oH$mar {Z‘y©bZ, CËnÞ {df‘Vm KQ>
H$) J[a~r {Z‘y©bZ, AmYw{ZH$sH$aU S>) g‘mdoeH$ Am{U emídV d¥Õr
n¶m©¶r CÎmao …
1) A ’$º$ 2) ~ ’$º$ 3) H$ ’$º$ 4) A, ~, H$ Am{U S>

18) The long-term objectives of economic planning, as spelt out in various plan documents have been

as follows :

a) Economic growth, self-reliance

b) Removal of unemployment, reduction in income inequalities

c) Elimination of poverty, modernization

d) Inclusiveness and sustainability of growth

Answer Options :

1) a only 2) b only 3) c only 4) a, b, c and d

19) ¶moOZm {Z{‘©Vr Am{U ¶emgmR>r nwT>rb ~m~tMr JaO AgVo …
A) {Z¶moOZ Am¶moJ, AmH$S>odmar, C{Ôï>o ~) bú¶o Am{U AJ«H«$‘ {ZpíMVr, g§gmYZ g§H$bZ
H$) A «̂ï> Am{U H$m¶©j‘ àemgZ, ¶mo½¶ {dH$mg YmoaU S>) àemgZ H$mQ>H$ga, {ejUmMm nm¶m
n¶m©¶r CÎmao …
1) A ’$º$ 2) A Am{U ~ 3) A, ~ Am{U H$ 4) A, ~, H$ Am{U S>

19) The formulation and success of a plan require the following :

a) Planning Commission, Statistical data, Objectives

b) Fixation of Targets and Priorities, Mobilisation of Resources

c) Incorrupt and Efficient Administration, Proper Development Policy

d) Economy in Administration, Education base

Answer Options :

1) a only 2) a and b 3) a, b and c 4) a, b, c and d
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20) ZmJarH$aU åhUOo ............
A) eham§‘Ü¶o cmoH$g§»¶oMo H|$ÐrH$aU
~) eham§‘Ü¶o cmoH$g§»¶oMo {dH|$ÐrH$aU
H$) IoS>çmV cmoH$g§»¶oMo H|$ÐrH$aU
S>) cmoH$g§»¶oÀ¶m KZVoV dmT>
n¶m©¶r CÎmao …
1) ’$º$ A 2) ’$º$ A Am{U ~ 3) ’$º$ A Am{U S> 4) darcn¡H$s gd©

20) Urbanization means ...........

a) Centralization of population in the cities

b) Decentralization of population in the cities

c) Centralization of population in villages

d) Increase in density of population

Answer Options :

1) Only a 2) Only a and b 3) Only a and d 4) All of the above

21) ............. hr ^maVr¶ Am{W©H$ {Z¶moOZmMr ‘w»¶ C{Ôï>o AmhoV.
1) Am[W©H$ dmT> 2) AmË‘{Z ©̂aVm 3) amoOJma H$‘r H$aUo 4) J[a~r Xÿa H$aUo.
n¶m©¶r CÎmao :
1)  (a) ’$º$ (b) 2) (a), (b) Am{U ’$º$ (c)

3)  (a), (b) Am{U  (d) 4) darc gd©
21) are the main objectives of Indian economic planning.

a) Economic growth b) Self-reliance

c) Reducing employment d) Elimination of poverty

Answer options :

1) (a) and (b) 2) (a), (b) and (c) 3) (a), (b)and(d) 4) All of the above

22) NITI Am`moJmÀ`m g§X^m©V, Imbrbn¡H$s H$moUVr {dYmZo gË` AmhoV?
a) H|$Ð Am{U amÁ` gaH$mam§gmR>r 'qWH$ Q>±H$' åhUyZ H$m‘ H$aVo.
b) g§~§{YV YmoaUmË‘H$ Am{U Vm§{ÌH$ g„m {Xbm OmVmo.
c) V§ÌkmZ gwYmaUm Am{U j‘Vm dmT>dÊ`mda ^a Úm.
d) H$m ©̀H«$‘m§À`m A§‘b~OmdUrMo narjU Am{U ‘yë`m§H$Z H$ê$ ZH$m.
Answer Options :

1) a Am{U b ’$º$ 2) c Am{U d ’$º$ 3) a, b Am{U c ’$º$ 4) darb gd©
22) With regards to NITI Aayog, which of the following statements are true ?

a) Works as 'Think tank' for Central and State Governments.

b) Relevant strategic and technical advice is given.

c) Focus on technology upgradation and capacity building.

d) Do not monitor and evaluate the implementation of programmes.

Answer Options :

1) a and b only 2) c and d only 3) a, b and c only 4) all of the above
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23)  {deof àXoe {dH$mg H$m¶©H«$‘ ¶mgmR>r V¶ma H$aÊ¶mV Ambm ..........
A) Xm[aX²Œ¶ {Z‘y©bZ d amoOJma dmT> ~) S>m|Jami d Am{Xdmgr ^mJmMm {dH$mg
H$) XþîH$miJ«ñV ^mJmV {dH$mg S>) J«m‘rU ^mJmV Am¡Úmo{JH$aU
n¶m©¶r CÎmao …
1) A ’$º$ 2) ~ Am{U S> ’$º$ 3) ~ Am{U H$ ’$º$ 4) S> ’$º$

23) Special Area Development Programme has been formulated for

a) Poverty eradication and employment growth

b) To develop hilly and tribal area

c) To develop drought prone area

d) Industrialization in the rural area

Answer Options :

1) a only 2) b and d only 3) b and c only 4) d only

24) Imbrbn¡H$s ¶mo½¶ OmoS>r AmoiIm. (Am§Vaamï´>r¶ ì¶mnmamMo {gÕm§V) …
a) Vm¡b{ZH$ bm^mMm {gÕm§V - A°S>‘ pñ‘W
b) CËnmXZ KQ>H$ à‘mU {gÕm§V - ho³Ma Amo{bZ
c) Ho$di bm^mMm {gÕm§V - [aH$mS>m}
n¶m©¶r CÎmao …
1) ’$º$ (a), (c) 2) ’$º$ (b) 3) ’$º$ (c) 4) ’$º$ (a), (b)

24) Select the correct pairs of the following. (theories of international trade) :

a) The doctrine of comparative costs - Adam Smith

b) |Factor proportion theorem - Heckscher Ohlin

c) The law of absolute cost advantages - Ricardo

Answer options :

1) Only (a), (c) 2) Only (b) 3) Only (c) 4) Only (a), (b)

25) Am§Vaamï´>r¶ ZmUo{ZYr (IMF) Zo 1991 ‘Ü¶o ^maVmbm ‘XV XoÊ¶mgmR>r Imbrbn¡H$s H$moUVr AQ> R>odbr hmoVr?
1) Am¶mV ewëH$mV dmT> 2) {Z¶m©VrV dmT>
3) ^maVr¶ én¶mMo Ad‘yë¶Z 4) Am§Vaamï´>r¶ ì¶mnma H$‘r H$am

25) Which of the following condition was laid down by IMF in 1991, for the grant of assistance to

India ?

1) Raise the import duty 2) Grow the export

3) Devaluation of the Indian Rupee 4) Reduce international trade

26) gaH$maZo ...... ñdê$nmV ^m§S>dbr àdmhmMo CXmarH$aU Ho$bo.
1) àË¶j {dXoer Jw§VdUyH$ 2) ~hþamï´>r¶ H§$nÝ¶m§da {Z¶§ÌU
3) gmd©O{ZH$ CnH«$‘m§Zm àmoËgmhZ 4) ^maVr¶ CÚmoJm§Zm àmoËgmhZ

26) The government also liberalised the capital flows in form of ......

1) FDI 2) Control on MNC’s

3) Promotion of PSU’s 4) Promotion of Indian industries
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27) 1991 À¶m gwédmVrbm ̂ maVmV à‘wI Am{W©H$ g§H$Q> AZŵ dmg Ambo. ¶m g§H$Q>mVyZ CX²̂ dboë¶m g‘ñ¶m gmoS>{dÊ¶mgmR>r
gaH$maZo nwT>rb H$m¶©H«$‘ gwê$ Ho$bm …
a) g‘J« Am{W©H$ pñWarH$aU
b) g§aMZmË‘H$ gwYmaUm
c) amï´>r¶ {ejU YmoaU
n¶m©¶r CÎmao …
1) ’$º$ (a) 2) ’$º$ (b) 3) XmoÝhr (a) Am{U (b) 4) ’$º$ (c)

27) In early 1991, a major economic crisis surfaced in India. To tackle the problems emanating from

this crisis, the government introduced a programme of :

a) Macro economic stabilization

b) Structural reforms

c) National education policy

Which of the following is correct ?

1) Only (a) 2) Only (b) 3) Both the (a) and (b) 4) Only (c)

28) {Xnm Zm¶a ¶m§Zr OmJ{VH$sH$aUmMr ì¶m»¶m Aer {Xbr …
a) XoemÀ¶m amOH$s¶ gr‘m Amobm§Sy>Z Am{W©H$ H$m¶m©V H$nmV.
b) XoemÀ¶m amOH$s¶ gr‘m Amobm§Sy>Z Am{W©H$ {H«$¶m§Mm {dñVma.
c) Am¡Úmo{JH$ joÌmgmR>r OmJ{VH$ ~mOmamMm CX¶.
d) eoVr d Am¡Úmo{JH$ joÌmgmR>r OmJ{VH$ ~mOmamMm CX¶.
n¶m©¶r CÎmao …
1) (a) 2) (b) 3) (c) 4) (a) Am{U (d)

28) Deepa Nayyar defined Globalisation as :

a) Reduction in economic activities across political boundaries of nation.

b) Expansion of economic activities across political boundaries of nation.

c) The emergence of global markets for industrial sector only.

d) The emergence of global market for agricultural and industrial market.

Answer options :

1) (a) 2) (b) 3) (c) 4) (a) and (d)

29) CXmarH$aU ho Am{W©H$ d¥Õr d bmoH$H$ë¶mUmgmR>r àmoËgmhZ XoUmao Amho Ago H$moUr gm§{JVbo Amho?
1) ‘h‘X ẁZwg 2) A°S>‘ pñ‘W
3) ‘Z‘mohZ qgJ 4) E‘. Eg. ñdm{‘ZmWZ

29) Who said that liberalization is going to promote economic growth and public weifare ?

1) Mohammad Yunus 2) Adam Smith

3) Manmohan Singh 4) M. S. Swaminathan
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30) Owb¡ 1991 nmgyZ gaH$maZo ì¶mnma joÌmV gwYmaUm§Mr ‘m{bH$m gwê$ Ho$br AgyZ Ë¶m§Mm hoVy ̂ maVr¶ AW©ì¶dñWm Cd©[aV
OJmer CÎm‘ OmoS>Uo hm Amho. Ë¶mV nwT>rb à‘wI gwYmaUm Cnm¶ hmoVo;
a) én¶mMo Ad‘yë¶Z
b) én¶mMr n[adV©Zr¶Vm àW‘ ì¶mnma Am{U Z§Va Mmby ImË¶mda
c) Am¶mV {e{WbrH$aU Am{U ì¶mnmamMo {~Ja gaH$marH$aU
d) {Z¶m©V d¥Õr Cnm¶
n¶m©¶r CÎmao …
1) ’$º$ (a) Am{U (b)$ 2) ’$º$ (c) Am{U (d)

3) ’$º$ (a), (b) Am{U (c) 4) gd© (a), (b), (c) Am{U (d)

30) Since July 1991, the government has introduced a series of reforms in the trade sector which are

aimed to help integration of the Indian economy better with the rest of the world. Among these

the reform measures consisted of;

a) Devaluation of the rupee

b) Convertibility of rupee first on trade account and then on current account

c) Liberalization of import, and decanlisation of trade

d) Measures to promote exports

Which of the following is correct ?

1) Only (a) and (b) 2) Only (c) and (d)

3) Only (a), (b) and (c) 4) All the (a), (b), (c) and (d)

31) ^maVmVrb gwYmaUm YmoaUm‘wio ~±H$mVrb {dXoer Jw§VdUyH$ ...... Q> o̧$ n¶ªV dmT>{dÊ¶mV Abr.
1) 51 2) o64 3) 54 4) 74

31) The reform policies raised the foreign investment limit in banks upto ...... percent.

1) 51 2) o64 3) 54 4) 74

CÎmao

5) Am{W©H$ gwYmaUm, d¥Õr Am{U {dH$mg - joÌr̀  dmT>, n§Mdm{f©H$ ¶moOZm d {dH$mg H$m¶©H«$‘
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